RBFU/MNEFREHZBRRFREFER (FELRF1RX)

FR -8R

ERk245E12 A 16 BT

1 2 3 4 5 TEERESE ENEBE 10 11
BEALBLTEG IEE BEEALGE | BPLUpEEE | = = | REWCHTE | HAIRE 61 % |[1FzEor: |sk % |oFmEonr: |® B OB| BE=Z =
BHRE (3+10) (4+5+6+8) pEEmHK GREDRE) (78T | E2H-EOR (9FEDL) | E2BH=EOHK (2—3) (3+2)%
[ _?-fSIJJLE'm’%’HZ ] [ 125,901 125,591 72,998 61,353 10,951 676 18 52,593 58.12
EWMMARE Jl 2| 137,188 136,886| 74,774 61,236 12,765 759 14 62,112 54.63
H 263,089 262,477 147,772 122,589 23,716 1,435 32 114,705 56.30
1 2 3 4 5 TEERESE ENEBESE 10 11
IEE EEALE | ByruEEE | = = | BEWCHTE | HEIRE 61 % |[7FzEor: |si % |oFmEox: |® B OB| BE=Z=
BEANLE BHRE (3+10) (4+5+6) | pEspy GREDHE) (7EEL) | E2H=EOH (xEd) |x2H-EOK (2—3) (3+2)%
5 & » L 125,828 125,518 72,980 61,353 10,951 676 52,538 58.14
Es 137,109 136,807 74,760 61,236 12,765 759 62,047 54.65
H 262,937 262,325 147,740 122,589 23,716 1,435 114,585 56.32
1 2 3 4 5 TEE®RES ENKRE 10 11
IEE HEAREALE| BRLUAEEE | = = | REWCHTE | HEIRE 61 % |[7FzEor: |sk % |oFmEox: |® B B| ==
ENEZEA BHRE (3+10) |(4+5+6+8)| pm=py GREDHE) (7EEL) | E2H=EOH (0xEd) |E2H-EOK (2—3) (3+2)%
LBBERD |= 73 73 18 18 55 24.66
Es 79 79 14 14 65 17.72
H 152 152 32 32 120 21.05




